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Topic:- General Knowledge and Logical Knowledge

1) Name the city in which Indian Military Academy (IMA) is located?/ RO G0 3[hIGH! (STSTHTY)
fPaosR A fRE

1. Mumbai / T5S5
2. Pune / gf?f
3. Delhi / faeett

4, Dehradun / é@?l@“l
Correct Answer :-

e Dehradun/ 36€|§:1

2) Name India’s first mapping satellite? / HIRd B Ugell AT AdTSC BT A9 Id1SU?
1. CARTOSAT-1/ BIEe- I
2. Bhaskara I/ HIRh [

3. None of These /sqﬁﬁaﬁs‘:reﬁ

4. INSAT IC /3 IC

Correct Answer :-

« CARTOSAT-1/ PTeie- 1

3) If GATE is coded HBUF, then how is DEGREE coded? / Uf¢ GATE @ HBUF ¥ Hif3d fopar sirar
g, df DEGREE &) &9 SIied far SR

1. EFHSFF

2. EEHTFE

(2)



4. EFHTFE

Correct Answer :-

» EFHSFF

4) Which of the following Indian musicians has not received a Bharat Ratna? / Frafafea yrda

TitaeRl § | f5rd YRd T e T gen 82
1. Ravi Shankar / 3(d QIR

2. Lata Mangeshkar / ST HIRHR

3. Bhimsen Joshi / W o=t

4. Mohammad Rafi / HIgHIG Y]

Correct Answer :-

e Mohammad Rafi / nﬁ%‘m‘c: IBI

5) Pachmarhi is located in / TG by o o R %?
1. Shahpura / RIMEYRT

2. Hoshangabad / Wﬂaﬁ

3. Bhojpura / "-h\_ﬂ'ER

4. Anuppur / T4

Correct Answer :-

» Hoshangabad / él?i‘l dic

6) Pench Hydroelectric Project is a joint project of which two states? / U 313@3@% LIERIEE
=1 g1 3=l ) Igaa ufvaeET 82

1. Madhya Pradesh and Rajasthan / H& TSR Td TR

2. Madhya Pradesh and UP / H¥] PRy Ud IR o

3. Madhya Pradesh and Maharashtra / AU Td HeRIY

4. Madhya Pradesh and Chhattisgarh / H&] e Td UG

Correct Answer :-

» Madhya Pradesh and Maharashtra / AHUC U HERTY
3)



7) Sanctuary that is located in Urmaria is Sanctuary. / Iufar ¥ fRyd SRy
JUIRTY B

1. Bandhavgarh / STH[aQ
2. Son /A

3. Ghatigaon / genma

4, Kanha / dTgl

Correct Answer :-

« Bandhavgarh / SYdig

8) The Ashoka Pillar whose lion capital was adopted by the Government of India as National Emblem, is

situated at / 3RS FH, ST I, YR TRHR FRT AT Uil & U H ST 741, I51 FRUd o:
1. Sarnath / JRATY
2. Gaya /I

3. Puri/ @
4. Varanasi / GIRTOTET

Correct Answer :-

e Sarnath / IR

9) The 9" President of India, born in Bhopal was / yiure & dar 8Y¢ HIRd & id ?Tgclﬁl PTHAMH
gl

1. Fakhruddin Ali Ahmed / BESE A 3(cH 3gHG
2. Pratibha Patil / BT O1fed

3. Shankar Dayal Sharma / T[h &I T

4. Kailash Nath Katju / BRI AT STe],

Correct Answer :-

« Shankar Dayal Sharma / Rl gaTd Bl

10) Who is the President of Hockey India? / B1h] SSUT BT eH& B 82
1.PR Sreejesh/lﬂ IR oiore

(4)



3. Narinder Batra / '_-RHEQ gAT

4. Pargat Singh / U7Td g

Correct Answer :-

» Mariamma Koshy / AR B

11) Who among the following has not been the President of India? / fFafsfa A P URT &
Tty e %R &

1. Zakir Husain / ST EQT‘[

2. N. Sanjeeva Reddy / U ﬂGﬂTﬂ@

3. V.V. Giri / 1.9t RRY

4. C. Rajagopalachari/?ﬁ NSNS

Correct Answer :-

» C. Rajagopalachari/?ﬁ NSUIFISIEIR]

12) Who is the Deputy Chairman of the Rajya Sabha? / TS HHT DT SUTIE DI 8?
1. Sumitra Mahajan / ﬁﬁﬁﬂ Halolq

2. Hamid Ansari / BTHS 3RY

3. P ] Kurien / 4T & $RTA

4. Arun Jaitley / 3BT SIea

Correct Answer :-

. PJKurien/Eﬁ@fW

13) National Emergency can be declared by / ?T@'q SATUTAPTA P TN fHHP GRT P S Hebd! 82
1. Parliament / 4G
2. Law minister / DT T

3. The President / ﬂ'gqﬁ

4, Prime Minister / THTT At

Correct Answer :-

(%)



14) Madhav national park in Shivpuri was established in the year / ﬁﬁ'ﬂ'ﬁ o H1eg ?T@'q T B L)
Y & w1t fobar T o

1. 1978
2. 1958
3. 2008

4. 1998

Correct Answer :-

15) The longest road tunnel in India is / Wﬁmﬁﬁmw_%l
1. Jawahar tunnel / STdTeR JIT

2. Chenani-Nashri tunnel /%I:I'I:ﬁ-ﬁww

3. Bhatan tunnel / & 4T

4. Natuwadi tunnel / 1 Ec\alé T

Correct Answer :-

« Chenani-Nashri tunnel / IF1-=R] I

16) Two dice are thrown simultaneously. The probability of getting more than 10 is /E(Pf Ui Th 1Y T
M1 10 F AP FaR 3MH B UG T & RIR &

1
1. °

1

4
2.

1
3, 12

1

&)
4,

Correct Answer :-

(6)



17) Find the odd one out: / Th ﬁwmﬁﬁﬂ
11, 22, 33, 44, 55, 65, 77

1.77
2.22
3.65

4.33

Correct Answer :-

e 65

18) Which of the following is the first payments bank to start operations in India? / ﬁ?ﬁ«r@aﬁ'@raﬁq

YYH YA 9P 8 S YR & ufame SiRey Hm?
1. Paytm/a_CrTQT[

2. Ujjivan Finance / 3Sol1dT B84
3, State Bank of India / HRdIT ¥ §&b
4. Airtel Payments Bank / QZREG aﬂ_c'ﬂ%

Correct Answer :-

« Airtel Payments Bank/@@ﬂm%

19) ICC Cricketer of the Year — 2016 was / a¥-2016 % \mé'\'ﬂ?ﬁ fppe q
1. R Ashwin / 3R 3{f%

2. M S Dhoni / TH TH &1

3. Virat Kohli / fRTe wigait

4. Cheteshwar Pujara /%ﬁ%{?w

Correct Answer :-

e R Ashwin / 3R {7

(7)



?l

1. January 30/ 30 SR

2. February 28 / 28 ToRaR]
3. December 25 / 25 W
4, December 1/ 1 faasR

Correct Answer :-

e February 28 /28 HRaR]

21) First Kuldip Nayar Journalism Award was conferred on /UWWWWW
1 U fpar ma |

1. Mrinal Pande/I[Uﬂ?ftl'i@

2. Raghu Rai / XY MY
3. Ravish Kumar/?ian PHR

4, Prabhash Joshi / UYHTY Sireht

Correct Answer :-

e Ravish Kumar / IRy PHR

22) Who was the first vice-president of India? / HIRd & UYH G'C[-?quﬁf B Y2

1. S Radhakrishnan / T¥ XTYTH W
2. Zakir Hussain /GT%PT@?

3. VV Giri /dt df Tt
4, B D Jatti / o SI &g

Correct Answer :-

« S Radhakrishnan / Y [UTHWT

23) was honoured with the Jnanapith Award — 2016 / aﬁaﬁdﬁzw -2016 9
T foar T AT

1. Girish Karnad / TR $:|i3
2. Bishnu Dey/ﬁ'ﬂ'ﬂé

(8)



4. Namwar Singh /Wﬁ%’

Correct Answer :-

« Shankha Ghosh / TRG Oy

24) Complete the series choosing the missing number: / T JBAT TAHT AT DI GIT BITOTC:
2,4,6,8

1. 10

2.11

3.9

4.12

Correct Answer :-

25) Complete the series choosing the missing number: / T IBAT TAGY YT DI GRT DIToTT:
3,6,9,__ ,15

1. 10

2. 11

3.12

4.13

Correct Answer :-

26) Complete the series choosing the missing number: / & J=AT TAHT mﬁw PIfoTg:
3,9, 27, , 243

1.72

2. 81

3.90

4.75

©)



27) Select the option that is true about the Statements and Conclusions given:

Statements:
All bulls are cows
Some bulls are not tailors

Conclusions:
I. All tailors are cows
II1. All cows are tailors

/ 39 A &1 Iu= FIoE Sife 3w e FyET i Feput & IR § 981 8:
DY

I T O g
$O god goll 81 &
fArepd

I. mﬁ:avffﬂm%'
I1. 9t Td oo &

1. only conclusion Il follows / Had By 1) &WW%

2. only conclusion | follows / Wﬁwﬁfl CHENTUTW_CIT%

3. neither conclusion | nor conclusion Il follows /qﬁﬁ'@ﬁﬁl GﬁT:TEpfﬁ'Wﬁf Il wmﬁ%
4. both conclusion | and Il follows /ﬁ'@h_ﬁfl GﬁT Il Eﬁ:ﬁ G@WW%

Correct Answer :-

« neither conclusion I nor conclusion Il follows /=1 &1 fsBY | 3R 7 € s ) WW%

28) Select the option that is true about the Statements and Conclusions given:

Statements:
All hotels are restaurants
All restaurants are parks

Conclusions:

I. No parks are hotels
IL. All hotels are parks

(10)



DY

Tt gled YERe &
Tt Y urd @
e

1. Y T gew TE &
I1. 94t glca Ui &

1, only conclusion Il follows / Fad ey | WW%

2. only conclusion | follows / Had A=y | WW%

3. neither conclusion I nor conclusion Il follows /:Tépfﬁml Gh?':[%pfﬁw I HWW%
4, both conclusion | and Il follows /ﬁlﬁlﬂfl GﬁT Il —Ca:ﬁ WW%

Correct Answer :-

« only conclusion Il follows / Wﬁw&‘n C‘HEHTUTWT%

29) Select the option that is true about the Statements and Conclusions given:

Statements:
Some packets are not kids
All packets are flies

Conclusions:
I. Some flies are not kids
I1. All flies are packets

/ 39 faeu 31 99+ FHIfee Sife f3u e HU=T i fepul & IR | 98l 8:
AL H

7 Tde s THE

Tt 9%e wfeayi &

foreed:

1. PO AiGEd 9 T8 8

11, 94t ufRayt 9%c &

1. only conclusion Il follows / Had (s ) WUTW%

2. only conclusion | follows / Had e | &WW%

3. neither conclusion | nor conclusion Il follows /qﬁﬁf@ﬁl G'ﬁT:fEﬂﬁWGf Il G'IWUTW%

4. both conclusion | and Il follows /ﬁmﬂfl 3‘ﬁ7 Il a:ﬁ mm%

(11)



e only conclusion | follows / Wﬁwﬂfl WW%

30) Select the option that is true about the Statements and Conclusions given:

Statements:
Some books are magazines
All magazines are articles

Conclusions:
I. Some books are articles
II. All books are articles

| 39 fameq &1 I B o for faw e Y=Y ok faseul & IR & 981 &

DY

It uPrpe dE §

fore;

I $0 [P a@ 8

I 9f b aE §

1. only conclusion Il follows / &ad 5HY || SR BT &

2. only conclusion [ follows / PHad fEFT | STERI HRT &

3. neither conclusion | nor conclusion Il follows /=1 &1 FT55H | 3R 7§t fFsHY 1| SFIR0 =l §
4. both conclusion 1 and Il follows / TSHY | 3R Il GIFT SFTIRUT &l &

Correct Answer :-

« only conclusion | follows / PHad AHY | ST HRAT §

31) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 13 € 7 Y@@ ¥, T=eH &1 UH HH IUFRIT § | Tad GUIeH UgI-T:
2,8, 20, 48,92, 188

1. 188

2.92

3.8
(12)



Correct Answer :-
e 48

32) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T & ¥ saan #, e FT UH HH IUFRG € | Ted Jao UgHL:
121, 169, 224, 289, 361

1. 224

2.361

3. 169

4. 289

Correct Answer :-
e 224

33) If INSERTis coded JQXLAE, then how is WINDOW coded? | Tf& INSERT & JQXLAES
PISd fpar sTaT 8, A wWINDOW B $ Hifsd frar S

1. XLTKYH
2. XLSKXH
3. XLSKYH

4. XMSKYG

Correct Answer :-
o XLSKXH

34) If HANDis coded ICQH, then how is ZIPPER coded ? / Tfeé HAND & ICQH A ®ifsd far
ST §, O ZIPPER &) &9 ifsd far Sam?

1. AJSTFS
2. AJQQiX
3. AJQQFS

4. AKSTIX

Correct Answer :-

(13)



35) Complete the series choosing the missing letter/s: / &l &R/ 3MERT B DY &l DI Rl PifoTg
a__bbc__aab__cca__ bbcc

1.b,a,c, b

2.3,¢c,b,a

3.¢,3,b,a

4.3a,b,b,a

Correct Answer :-

36) In a certain code language, accept my offer means septa fok cofon, pay my bill means
doka fok toda, pay by cash means zoda toda foda. Which is the word for bi//in that code
language? / U W10 SIS UV A, accept my offer &1 Y septa fok cofon; pay my bill HT 3
doka fok toda TUT pay by cash &1 34 zoda toda foda BT §1 59 P MU H bil/ P e f5T we

T SXAATa fovaT T 82
1. doka

2. foda

3. fok

4. septa

Correct Answer :-

o doka

37) In a certain code language, dada nana papa means sell and buy, nana nina nona means
buy good shirt, and sida dada noda means play and enjoy. Which is the word for papa in that
code language? / U W PIS HTAT ff, dada nana papa b1 3l & sell and buy; nana nina nona
BT 3 buy good shirt d41 sida dada noda &7 3 of play and enjoyﬁ'clT gl EL; PIS YT H papa &
e {9 =reg &1 gwTe forar T 82

1. buy
2. sell
3.and

4. shirt

(14)



38) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different.
Choose the odd one out:

/Py ¥ el & o 9g fRT T €, W 3 ver &) Sis®y, [9 9+t ver Jwrar weikia #vd &
SaiP T 379 A B

T® fauH Jrd Hifore:
1. NML
2. XWV
3.0PQ

4. HGF

Correct Answer :-

39) Leena and Meena are standing at a point with their backs together. Meena walks 6m
straight ahead and turns left and walks another 8m. Leena walks 4m forward eastwards.
Then she takes a turn towards left and walks 1m, turns left again and walks 4m and then
1m towards left again.

How far is Leena from Meena and in which direction?

/

o1 3R HiFT T R WR 3ruet e Sieas gl € 1 141 6 W e werel € iR s g e fhv s
. eIl g1 T 4 1. W g FT 317 gt 71 R 98 918 geHv 1 Wt g g, v a1 ge v 4
. Terdt 8 SR fbe ars oiw 1 ). Tt 81

1, W1 fpai g W ok frm femm A 82
1. 10 m, north/ 10 Iﬁ., JaR

2. 10 m, south —west / 10 Iﬁ., claron-afy

3.8 m, south —east / 8 fﬁ., E'F&I'UT-QE:

4.5m, north—west /5 Tﬂ., IR-UfEH

Correct Answer :-

e 10 m, south —west /10 "v:ﬁ., A fay M B



836 @ 246 / 82 + 66 @ 234 / 13 = 881 @ 1 § W fHpHP TRTaR BRI?
1.+
2. *
3./

4, -

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1) solveforx: / X & Tol0 TT &1

J25—x =x-1
1.3
2.-5
3.4
4.2

Correct Answer :-

2) Jf the following two squares shown below overlap, which one of the following options is

formed?  IOig TFT g d90 AT 51 &, of W Fd # H ®id W U @hed addl 57

[ s = ¥
{ O F @
E FAY

(16)



2.
A Fay
T ®
3.
~ AN
® {r
4,

3 _ ’ i
) In the sequence shown below, which figurs comes next? / o<l 53 a1 HF H, 379Teh 3”1”“

i Hr T

AN Al Ay A
» i

W VARV YD
Y Y Y WY
1

i i v

(17)



N
%,
4,

Correct Answer :-

=,

U
|~/

]
Voo ¢

g

4) 1In the sequence shown below, which figurs comes next? / 7T 2 13 & &, 3@ HTRTeT
Thid HI AT

100 170 [

=

| L

it i1 r

Correct Answer :-

5) Two groups containing same number of people have an average age of 50 and 60. Find the average

age of the two groups combined. / fTal ®F FHI | 9Tl ol '\‘I"ﬁ)faﬂ 3NTd S{TY 50 TUT 60 LA

) - ) (18)



1. 60 yrs / 60 T
2.55yrs /55 T4
3. 50 yrs / 50 98

4.52yrs /52 T4

Correct Answer :-

e 55yrs/55TY

6) If 19 years are subtracted from the present age of Madan and the remainder is divided by 18, the
present age of Madan’s grandson Naman is obtained. If the sum of ages of Madan and Naman is 114,

then find the age ofMadan./ﬂﬁqﬁaﬂa?hﬁaﬂ'ﬁﬁ 19 g TeTan 74T 3R A9 ) 18 A fyunfora
aT a1 8, 9 9o & A T B IdHT 1Y WK $i TS ¢ | Tfe Ae U T B 3MTg BT AT 114
2, ) 9& B 3Ry 91 DY

1. 109
2.101
3. 80

4.76

Correct Answer :-

e 109

7) Simple interest on Rs. 1800 at 18% per annum for 9 months is: / 9 Tlé:]ﬁ & ﬁ'q 18% Wfaay U 1800
$UY & fT ATYROT AT 1 HH |

1. Rs. 191
2. Rs. 243
3. Rs. 108

4. Rs. 120

Correct Answer :-

* Rs. 243

8) Eighteen years ago, a father was three times as old as his son. Now the father is only twice as old as his
son. Then the sum of present ages of the son and the father is: / e—rcm‘s'aﬁq:q‘, Wﬁ?ﬂ 3+ RE] g di
TFT ST AT 1 34 T 3ra= O3 & dhad g 981 8 | af e SR 031 & qauT 3Ry &1 9T §:

(19)



2.72 years/726'5f
3. 105 years / 105 G

4. 108 years / 108 G

Correct Answer :-

e 108 years/ 108 G

9) In a sugar solution of 4 litres containing 25% sugar, one liter water is added. The percentage of sugar in

the new solution is: / 4 T1ex T o faerasT ® 25% A 81 399 T ciiex U= fremn sirar g1 - 1e
forerg & S+t @) wforaar g8 &

1. 15%
2. 20%
3.25%

4. 30%

Correct Answer :-

e 20%

10) Pipe A can fill a tank in 3 hours, while Pipe B takes 6 hours and Pipe C, 18 hours. If all the pipes are
opened, how long will it take to fill up the tank? / GISU A, 3 ﬂ%ﬁw éﬂ? Al HI Hhdl %’, \_rlﬁ'ﬁ?tﬂgq B
B 6 G 3R UTST C I 18 U T & | afe Tt ursy W fRE & &, ) ¥ &) WA o fpa= wwg
SHDIE

2 T
12hr / 12 ®2
1, =2 >
3

3’hr 11z H=ge
>

5

1
2.

LR
> >

3.

Correct Answer :-

(20)



1— i 1— ®cC

11) Goods are sold so that when 2 % is taken off the selling price, a profit of 40 % is realized. By what
percent is the sale price higher than the cost price? / HI{ 9 UDIR =1 7T f fawa qa W o 2% B
HHI IR, A 40% BT AT TN 8 | AN G o fasha g fopaan wfa=ra siftres €2

1. 66.66 %
2.51.5%
3.30%

4.42.8%

Correct Answer :-

12) Tap A fills a tank in four hours, and Tap B empties the same tank in six hours. When both of the taps are
opened together, the tank will be filled up within: / ¢l A IR U ﬁ@% B Ul %, 3R 71T B I
P @ B Ue U WTdl Hral g1 gl SFl 7d TP T1d Wi o1 &, @ €6 s+ e & fiay YR SIrem:

1.21hr/21 9¢
2.18 hr/ 18 ¢
3.12hr/ 129

4.15hr/159¢

Correct Answer :-

« 12hr/1279¢

13) The ratio of the areas of two circles is 16 : 25. What will be the ratio of their circumference? / E?f g?ﬁ'%

ATEE! BT STUT 16:25 § | IADT URTY BT SJUTd FIT ERI?
1.6:9

2.4:3

3.12:15

4.4:5

Correct Answer :-



14) The average of 10 numbers is 45. If each number is increased by 20 %, then the new average of the
numbers is ./ 10 TSATSAT BT 31 45 B | Al T I A 20% DI g $t oIl g, ) w=mait
T 7T S ]

1.45
2.70
3.54

4. 65

Correct Answer :-

15) The average age of class teacher and 10 students in a class is 25 years, which is reduced by 2 years if the
age of the class teacher is excluded. What is the age of class teacher? / €h Tl & qt ﬁT&‘ﬁ? qYUT 10 BEAT
B1 3fd 3y 25 9 €, afe ot Rrere Y 3y 31 ger € 5, at 2 af Hu 81 Sivar 31 9t Rigrw Ft
3T T 82

1.38
2.43
3.40

4. 45

Correct Answer :-

. 45

16) On selling a rickshaw for Rs. 2,640, Sanjay loses 12 %. If he wanted to gain 12 %, for how much should

he have sold the rickshaw?/WW@Z,MOW"?MWW@H% HﬂETﬁEéI uﬁag 12%
ATH TS BT I1edT 4T, Y I 39 Ra=r o) fraq Tue & S==7 Tnfae ot

1. Rs. 3,160/ 3,160 ¥UU
2. Rs. 3,360/ 3,360 ¥4UU
3. Rs. 3,460/ 3,460 ¥UU

4. Rs. 3,260/ 3,260 3UT

Correct Answer :-

e Rs. 3,360/ 3,360 ¥UU



from students as an Infrastructure Fund. Each boy and girl needed to contribute an amount equal to their
respective total number in the college. The grant provided by the government is equal to half the amount
contributed by the college. If the ratio of boys and girls in the college is 6 : 4, how much money is available

to build the library? / T% HIcel 3T 1000 DT & o€ T Rawp1ard BT AT ST °rgar 411 59
FFrafor $39 $t AR TP SHRTFER Bs F TU A ST A THa B ol 0t TdE ds@ i asa! B
Bidel 1 ST ol BT P IR A BT ANGH BT ATAAP § | TRHR FRTUSH fowar w
SIS HBTA=ad gRT ARG &1 T8 319 IR P R 31 Afe Pioe A dsa! 3R asfeal o1
3T 6: 4 B, T [T 991 & e faa $uu Suass 82

1. Rs. 7,80,000 / 7,80,000 U
2. Rs. 4,80,000 / 4,80,000 ¥UU
3. Rs. 2,60,000 / 2,60,000 ¥UUJ

4. Rs. 5,20,000 / 5,20,000 ®UU

Correct Answer :-

» Rs. 7,80,000 /7,80,000 ¥UUY

18) The cost price of 20 televisions is the same as the selling price of 16. What is the percentage of profit? /

20 THITAT B AT T, 16 Salfaor & fIsha Tou & T & | ATY BT UfI=Tadr 1 82
1.22.5%

2.17.5%

3. 20%

4. 25%

Correct Answer :-

e 25%

19) What is the length of a cylindrical wire of radius 3 mm that can be drawn from a copper sphere of

radius 21cm? / 3 FRf 34T 91ell T S@AToR aR @1 s w1 eif, o 21 A =T it &
Ma T FNpre S goar g2

1. 137200 km / 137200 fopeit
2. 536 cm / 536 A
3.1372m/ 1372 |l

4,563 m /563 Hl

Correct Answer :-

(23)



20) What is the distance traveled by the 7 inches long-hour hand of a clock between 06:00 a.m. and 08:00
p.m.? / T IS P 7 59 Adl U BT 3 B 06:00 a.m. F 08:00 p.m TP S & ¢ fopa=il g3} a0 Bt
Tsdl 82

1. 45 inches / 45 37:[
2. 44 inches/44gﬁ
3.51.33 inches / 51.33 37*«[

4. 7.33 inches /7.33 34

Correct Answer :-
e 51.33 inches/51.33 sﬂ

21) The ages of Kamal and Vimal are in the ratio of 3 : 5. After 9 years, the ratio of their ages will become 3 :
4. What is the present age of Vimal? / HA 3R fawa &t 3 3:5 * \Hﬂtﬂ?l'ﬁ' %I 9qul & dlq, T |
3T BT U 3:4 T S | f0a Ft adu= 3y & 82

1. 15 years/ 153y
2. 11years/ 11 GLY
3. 13 years/ 1399

4, 9years/9a'5f

Correct Answer :-

e 15vyears/ 15 ay

22) The ages of Joshy and Sebastian is in the ratio of 3 : 4. If after 16 years their ages will be in the ratio 5:6,

then what is the present age ofJoshy?/GﬁQﬂGﬁT@amﬁm3:4 %Wﬁﬁ%l e 16 atﬁ’am
AP 3T BT SJUTd 5:6 I, Y SIRM B adH AR FT 3?2

1.24
2.40
3.27

4. 30

Correct Answer :-



243) In a party, where there were 200 guests, 60 % had vegetarian tood, and 50 % had non vegetarian, 30 %
of guest had both vegetarian and non-vegetarian food. How many people did not dine at the party? / Ud

urdt ®, Sigt 200 3T &, 60% 3 ATPTERT WIS 4T, 3R 50% A HIATGRT Y fBaT, 30%
Srfafat A TrpTeRY 3R HiaTe Rt Sl HieH frar| urdf & foam @ = e =g} farar?

1.45
2. 40
3.35

4. 30

Correct Answer :-

24) If the sum of the ages of Ram and Sam is 12 years more than the sum of the ages of Sam and Tom; then,
by how many years is Tom younger to Ram? / gfe 3w 3R T B arrgmuhﬁﬂ AR A P Gﬂ'ﬁﬁ 12
a9 3t 7; @, <ra 39 A fpaq ad sier @2

1.6
2.10
3.12

4. 15

Correct Answer :-

e 12

25) Two cars start from the same place in opposite directions. If one goes northward at 60 kmph and other
southward at 75 kmph, what time will they take to be 405 km apart? /a' Car Tdh ﬁ'\"’lﬂ:['\ﬁ faudia
fe=zmai & T SRy Tl § 1 afe T IR Bt 3iR 60 frelt ufa 6 ofk o gféror 3t 8iiR 75 fapedt
i 6 o1 fd I Feadl 8, A G BRI BT 405 fHariex g2 g | fora-n awa ahm?

1.3 hr 30 min /3 ©¢ 30 A
2.2 hr 30 min /2 ©¢ 30 fiFe
3.3hr/39e

4,2 hr/29¢

Correct Answer :-

« 3hr/39c



[ T 13 T IR gdl § 9 A 1¢8 T Ud & 31 JHH IF 91 TP el 82

Canopius Paes
Gallery 9,0ne Lime Street

London EC3GM

(i) Canopius Paes
Gallery 9,0ne Lime Street

London EC3GM

(ii) Canopius Paes
Gallery 9,0ne Lime Street

London EC3GM

(iii) Canopius Paes
Gallery 9,0ne Lime Street

London EC3CM

(iv) Canopius Paes
Gallery 9,0ne Lime Street
London EC3GM

1. iii

Correct Answer :-
e i

(26)



A=l ST T8 R H, &R 3R W3 BT Th B H HIgd 8 | TeTd TSI Ugdn—g:

i.ytyui0210uiyty
ii.ytyui2210uiyty
iii.ytyui0210uiyty

iv.ytyui0210Quiyty

4, il
Correct Answer :-
e 1i

28) Find the average. / 3T e |

7,21,43,61,82&74
1.44
2. 48
3.49

4. 52

Correct Answer :-

. 48

29) A man walks 5 km towards the south, turns right walks 3 km, then again turns left and
walks 4 km and turns left to walk for another 3 km and stops. What is the minimum distance
has he travelled between his starting point and ending point?

/ T TSHY Sfaror Ft 31X 5 et Bt g&f W geran 8, i grig geaw 3 il it gt aw gaan g, &
T 3R PR 4 fpfl Iaran €, 3R U IR 1 3R e 3 fhtfl IeM & 91¢ 3@ w1 81 3iue 3Rfi®
fag ik wwTu= fig & dta Su= =graw fra-t gt St amn a1?

1. 5km /5 Tt
2.9 km /9 fpHl

(27)



4, 10 km / 10 oot

Correct Answer :-

« 9km/9fHH

30) A and B can do a piece of work in 12 days and 16 days, respectively. Both work together for 3
days and then A goes away. How long will it take for B to complete the remaining work? / A Qa B

TP 1 P TP 3T B HA: 12 AN ofiv 16 e & &% gopa &1 19 1Y e 3 feA
TP BTH B 8, 3 A TS S1a1 8 | A ST Bt RT B A B B {1 G0 T2

1.9 days /9 T
2.7 days /7 T
3.8days /8 fad

4.6 days /6 T

Correct Answer :-

e 9days/9faT

Topic:- Science and Simple Arithmetic

2 1f 2ama e 8.thenx = A 3-a)+30 ) .arx =
1-2x - 1-2x ——
1. 10
2. 14
3.0
4.2

Correct Answer :-

e 0

D @O s tmenm= w3 @ (D) =1k dme

3

1.3

2.4
(28)



4.1

Correct Answer :-

e 1

3 Solve: V28 x 3% = (B thilalT: /28 x 37

1.72
2. 89
3. 126

4. 144

Correct Answer :-

o 144

4) Ppeptic ulcers are caused by . / Ufpe qur P PRUIGA S
1. Tetanus / Eé'_ﬂ:l

2. Protozoan / Eha\_rﬁ\’rl:f

3. Virus / ﬁ'ﬁﬂTﬂ
4, Helicobacter pylori /W@W Cllga 3

Correct Answer :-

» Helicobacter pylori /%Eﬂﬁéaa U 35’1 3

5) If the unit’s digit of a cube of a number is 9, then the unit digit of its cube root is: /‘Clﬁ Udh L3rE | | %

U B SHIS BT 3P 9 B, T 3P TGS P IS BT 3ich =1 gm:
1.6
2.7
3.9

4.8

Correct Answer :-

(29)



6) ypa+b=25anda”+b* = 225,then ab = gfeatb= 25 3R e +b?=225,dTab =

1. 250
2. 100
3. 200

4. 400

Correct Answer :-

e 200

7) Lignite, bituminous and anthracite are different ranks of: / ﬁl”q'l's'ﬁ', ﬁgﬁ:ﬂ GEl @W
fFrafafaa 9 3 feas At sifear &

1. Coal / 1T

2. Natural gas / W T

3. Bio gas / g 1

4. Nuclear fuel / ATTH®I _sc%l_*f

Correct Answer :-

« Coal / BITAT

8) The preferred mirror used for shaving is: / goITHd (Saﬁ'rl) ® 1%—111 IUYRT A A1 S 91T a8 El'-fUT
e

1. Convex mirror / 3cldl E'TfUT
2. Concave mirror / 3{ddd] E("CfUT

3. Plane mirror / 9HdA E'TfUT
4, Parabolic mirror / TRAATI®H ?ﬂ:fUT

Correct Answer :-

e Concave mirror / 3{dd¢l a'd:UT

(30)



I aTeil AT | 9+ BIH1 A1 ¢:
1. Low melting point / [GLSRINGIED
2. Low conductivity / B EISCEI
3. High melting point / 3 TTAIh

4. High resistance / 3= gfeRTY

Correct Answer :-

» Low melting point / = e

10) Transplantation of seedlings is done for i 3@ &t ﬁ"Tl'sc & ﬁl'[{ CARTIG| %I
1. paddy / dldd

2. wheat / ﬂé‘

3. maize / Hdbl

4. jowar / SdR

Correct Answer :-

o paddy/dldd

11) Seeded plants are placedin . /‘qﬁm'r\”ﬁé} _ ﬁ?@'\_ﬂﬁ%
1. Pteridophyta /éﬁ@m

2. Fungi / Pdd

3. Algae / ﬁTﬂT‘f

4. Phanerogam /Wﬁ'ﬁﬁ

Correct Answer :-

» Phanerogam /E@Ef‘l\-ﬁﬁ

12) The chemical process that release energy in a cell is called . /a's'wwﬁﬁ ufehar st
DIfRrB13N H SHol g Hl 8, PeamEl gl

1. photosynthesis | TehTRT FLQNT
2. digestion /Ul

3. breathing / RdI-
(31)



Correct Answer :-

» metabolism /3UTYT

13) holds 2 bones together. / 2 JAfRY ﬁw \‘IT?I@G?IT%I
1. Adipose tissue / THIT SHdd

2. Ligament/m

3. Areolar tissue / Qﬁ&ﬁ?ﬂ’ Hdd

4. Tendon / &

Correct Answer :-

 Ligament/ \H@vl?\r_\{l

14) Which of the following combinations are not present in animal cell? fafafRad s U

e ] T T R e E

1. Golgi bodies and vacuole / Tieol! BT 3R TFYTT

2. Cell and plastid / PIRIHT 3R AIH

3. Mitochondria and nucleus / qﬁaﬁ%ﬂ'[ 3’?|T ClREY

4. Cytoplasm and cell membrane / DIRBIEH 3R PR m

Correct Answer :-

e Cell and plastid / PIRIHT 3R TaH

15) At what rate of compound interest pa will Rs. 1250 amount to Rs. 1800 in two years? / 1250 U

foram ufa=ra aiftfe awafs sare @1 gv W gt adf A 1800 TUA B wITEAY?
1.18%
2. 12%
3. 20%

4. 15%

Correct Answer :-

e 20%

(32)



between parallel sides is 20 cm, then its area is: / Td U AGYS DI &l JHIAR YOIT3MT DT
s 36 It YT 64 T 71 Al THIGR YT & weg gt 20 T B, A SHBT AFwd e ghm:

1. 5000 sq cm / 5000 ¥ AT,
2. 4000 sq cm / 4000 I T,
3. 4528 sq cm / 4528 T Y.

4. 4200 sq cm / 4200 T .

Correct Answer :-

« 4000 sq cm / 4000 T T,

17) 1fa polynomial is divided with {x — 2),the quotient is (x + 5) and remainder is 3, then the

polynomial is: / afe t@ sgug & & ~ 2 um A = ¥ * 5) yrree aur 3 Yved smar @, @
§gUg = m:

| X +3x+7
5 X2 =3x+7
3 X2 +3x—7
4 X —3x—7

Correct Answer :-

L X2 +3x—7

18) If the adjacent sides of a rectangle are in the ratio 2:3, and its area is 96 sq cm, then its perimeter is: /'CI'I%

TS 3Tad B AT YOITY 2:3 & FUTd A &, 3R SHDT &% 96 91 T, B, o 3961 oA 3= gIm:
1. 40 cm / 40 9T,
2. 60 cm / 60 T,
3. 50 cm / 50 A,

4, 45 cm / 45 9.

Correct Answer :-

« 60 cm /60 THY,

19) If the total surface area of a cubical open water tank is 720 sq m, then what is the capacity of the tank in

litres? / S &b TR UI1 &1 Gell ST T P Y317 Qther 720 a7 . €, ot S Y g dtex A
(33)



1. 1728 litres / 1728 TIex
2. 1.728 litres / 1.728 E“E?
3. 1728000 litres / 1728000 TIex

4. 1000 litres / 1000 Tex

Correct Answer :-
o 1.728 litres / 1.728 Tex

20) If the average of five observations is 22, where four of its observations are 18, 21, 19 and 24, then the fifth
observation is: / Tfe U U&IUN BT 3T 22 §, T8l SHP IR V&I 18, 21, 19 31X 24 &, o gi=ar Veror fAw=

1.28
2.26
3.25

4.27

Correct Answer :-

e 28

21) Ifin a quadrilateral, the three angles are 85, 72 and 138, respectively, then the fourth angle is: / qﬁ Uh

TgY T I BI0T HHRT: 85, 72 AUT 138 &, 1 TYT HI0T F5= §H:
1. 65
2.78
3.75

4. 60

Correct Answer :-
e 65

22) The area of a triangular region with base 32 cm is 288 sq cm. Then its height is: / T fa’ﬂ\_:I'I_CFIT 8-33[,

T 3MPR 32 O 2, 1 &% 288 T A, §1 A IUPT TS {1 gRiT:
1. 15cm/ 15 THT.

2.16 cm/ 16 M.
(34)



4.36 cm /36 9.

Correct Answer :-

e 18 cm/lS@Iﬁ.

23) The area of a rectangle is 400sq m. If the sides are doubled, then the area is: / b 3T DI AHE 400

T . 31 9 SHPT YT IR R & S, A &= e ghm:
1. 160 sq m / 160 a7 1T,

2. 1800 sq m / 1800 ¥ 1,

3. 16000 sq m / 16000 ¥ H.

4. 1600 sq m /1600 7 1.

Correct Answer :-
« 1600 sq m/ 1600 I =,

24) Santhosh bought a refrigerator for Rs. 9000 and was forced to sell it for Rs. 8100. Then the loss
percentage is: / I 7 TP ITpoI¥e 9000 TUY A WGT aUT 3 8100 FUY H 99+ & fore faa=r g man|
IUPT g1+ wfer=ra e ghm:

1. 10%
2.12%
3. 8%

4. 9%

Correct Answer :-
e 10%

25) Kerosene burns more rapidly than coal because: / ﬁl@ BT dd PIIA A SIS Ioil A STedn %
Fifep:

1. it has low calorific value / SH®T BRI HH HH Bl g |
2. it has more oxygen in it than coal / STH DI B daI T 3ffds &mﬁq@?ﬁ%l

3. it has low ignition temperature / YD Ysdd-dl4 D H GGl % l

4. it is a liquid hydrocarbon / T8 TR B3 SIHIE IdT & |

Correct Answer :- 7
(35)



26) Identify the substance that cannot be degraded by microorganisms. / 39 IET?f Ca| T&EITﬁ'E Ell

erohtal gR1 Frefipa 7eY fba o e g1
1. Dead animals / Hd U]

2. Vegetable peels / Tfeaal & e

3. Empty glass bottles / @Il Bid 1 Sidel

4. Decaying plants / &THTT qY

Correct Answer :-
« Empty glass bottles / WTelt BT B Sidal

27) 10 ml of a solution of NaOH neutralises 7 ml of a given solution of HCI, then 20 ml of the same
solution of NaOH requires ______ ml of HCI solution to neutralize. / NaOH &T 10 firelt e HO1L &
feu g 7 fircht et ) SR o1 3T €, <t NaOH & Si faea= & 20 el &1 SeRiAF T &
foe Hel faeaa & freht &t sraza®ar gl

1. 20
2.14
3.10

4.7

Correct Answer :-

o 14
28) Airplanes have streamline shape, so that they can overcome the ./ 331? Slglsl BT STPR
YRT I B &, aifr 4 TR YU IS

1. frictional force of air / WWWW
2. sliding friction / Tt Eefor

3. static friction / R GH0T

4. rolling friction / ERGEALL

Correct Answer :-

e frictional force of air / GTQWWW



dic- 3R Tshh GIRT STYAT PT TgP SITT I hT YId Y H TR AT -7 4Tl
1.1953
2. 1997
3. 1856

4, 1962

Correct Answer :-

e 1953

30) Which one of the following statements is CORRECT about polythene and plastics? / giferdf= Tq

WS & IR § TE HYT T TG DI?

1. Are non-biodegradable /ﬁ?ﬁ?ﬁlﬂ?ﬁ%’l

2. Decompose generating bad odour / WWW‘THWW%I

3. Are not harmful / BTH®R® T8l 8

4. Degrade in environment very easily / Wﬁ@ﬂ%ﬁﬁ%ﬁ@ﬁ%l

Correct Answer :-

« Are non-biodegradable /ﬁ?—@ﬁ'ﬁﬂﬂ:ﬁ%l

(37)



